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Question No : 1

Your customer is planning to secure a data center with web servers reachable through two
ISP connections terminating on each node of an active/passive SRX Series chassis cluster.
ISP-1 Is the preferred connection because it provides higher bandwidth than ISP-2.

Which two must you include in your design proposal to meet this requirement (Choose two)

A. Use conditional BGP advertisements and use Interface monitoring for both ISP
Interfaces.

B. Use static routing and use interface monitoring for both ISP interfaces.

C. Ensure that both ISP interfaces are in the same zone and use interface monitoring.

D. Ensure that both the ISP interfaces are in different zones and use interface monitoring.

Answer: A,D

Question No : 2

In the data center, what are two characteristics of access tier VLAN termination at the
firewall? (Choose two)

A. Inter-VLAN traffic can bypass firewall services.
B. Intra-VLAN traffic is secured through firewall services.
C. Inter-VLAN traffic is secured through firewall services.
D. Intra-VLAN traffic can bypass firewall services.

Answer: C,D

Question No : 3

What are two reasons to add Routing Engine protection? (Choose two.)

A. to ensure that only permitted network nodes and hosts communicate with the WAN
infrastructure

B. to conceal routes by hiding them behind Internet gateways

C. to ensure that all routing information is encrypted

D. to protect the infrastructure from DDoS attacks

Answer: A,D
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Question No : 4

Spotlight Secure provides which benefit?

A. log management
B. botnet protection
C. centralized management of security devices
D. IPsec encryption

Answer: C

Question No : 5

Which security solution protects against zero-day attacks?

A. DDoS protection

B. advanced anti-malware

C. content filtering

D. Application Layer Gateways

Answer: B

Question No : 6

You ate designing the security improvements needed to protect an Application that your
company is about to deploy The only traffic that the application can receive is valid HTTP
traffic on TCP port 8080 that was inspected for Application Layer attacks.

Which three SRX Series device features will satisfy the requirements'? (Choose three)

A. intrusion prevention system
B. AppSecure

C. screens

D. security policy

E. antivirus
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Answer: A,B,D

Question No : 7

Your company must enable high-speed Layer 2 connectivity between two data centers
connected by private fiber Your security policy mandates that all company data is
encrypted between sites

Which technology would you use to meet these requirements'?
A. iPsec
B. MACsec

C. L2PT
D. VXLAN

Answer: B

Question No : 8

You are asked to design a high availability solution for a customer that wants to use a
chassis cluster with two redundancy groups (RGO and RG1) Their requirements dictate
that the Routing Engine does not failover if RG1 fails RG1 must failover automatically if
there is an interface failure

How would you accomplish this task?
A. Monitor all Interfaces In RG1 only.
B. Monitor all Interfaces in RGO only.

C. Do not monitor any interfaces in either redundancy group.
D. Monitor all interfaces in all redundancy groups.

Answer: A

Question No : 9

Where are the security policies enforced for next-generation firewalls?
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A. at the Presentation Layer
B. at the Session Layer

C. at the Data Link Layer

D. at the Application Layer

Answer: D

Question No : 10

Click the Exhibit button.

AT

EX4300 Swtch
QFX5100 Virtual Chassis

Referring to the diagram shown in the exhibit, which three statements are true? (Choose
three)

A. Layer 2 high availability can be enabled by configuring 802.3ad link aggregation
between the vSRX and the vSwitch

B. Layer 2 high availability can be enabled by configuring 802.3ad link aggregation
between the vSwitch and the QFX5100 Virtual Chassis.

C. VMware and KVM are supported host hypervisors for vSRX.
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D. The number of NICs on the vSRX must match the number of NICs on the host.
E. One NIC on the vSRX is reserved for management.

Answer: B,C,E



